DM 1 - CORRIGE

Exercice 76 p.60 :

27 x (473 x10%)? x 7573
40001 x 16
(=3)% x 77 x 51 5 33 x (473)? x (10%)? x (3 x 52)73
A= T (2212 - (22 x 103)~1 x 2%
—33x 7% x571 33 x470x10*x33x5°
T 53x212 - 22 x 1073 x 2%
33x 7% x571 - 3P x(22) e x(2%x5)*x33x5°
A:5—3><(3><7)2 B 272 x (2 x5)73 x 24
33 x 774 x 57143 33 x 2712 %24 x5%x33 x5
= 32 % 72 - 272 ><82—3 X 573 X 24
A=33"2x52x 7742 2" X3 x5
|A = 3! x 52 x 779 ~2Tx5

Exercice 95 p.61 :

ntl _on —on w2 2 x 1
2ntl _on = on(p — 1)
2t —2n =2" x 1
|2n+1_2n :2n|

Donc:
S=20421 4.4 2%
S=(21 =29+ (22 = 21) + - + (251 = 2%)
§S=-2042t -2V 422 .+ -2°0 42>
§=25-20
§=2"1-1



